
Missing Numbers in Equations (A)

___ − 17 = 17 ___ × 7 = 105 ___ × 20 = 280 ___ × 18 = 90

___ × 10 = 110 200 ÷ ___ = 20 8 × ___ = 128 20 + ___ = 30

33 − ___ = 13 18 − ___ = 6 ___ + 6 = 20 15 × ___ = 300

27 − ___ = 17 17 − ___ = 9 8 + ___ = 13 13 × ___ = 78

___ ÷ 11 = 6 ___ + 5 = 12 8 + ___ = 14 ___ − 19 = 7

___ − 16 = 6 24 − ___ = 6 144 ÷ ___ = 18 9 × ___ = 153

12 × ___ = 120 ___ × 16 = 160 ___ ÷ 14 = 18 40 − ___ = 20

___ × 15 = 75 ___ − 9 = 19 14 + ___ = 19 18 × ___ = 162
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Missing Numbers in Equations (A) Answers

34 − 17 = 17 15 × 7 = 105 14 × 20 = 280 5 × 18 = 90

___ = 34 ___ = 15 ___ = 14 ___ = 5

11 × 10 = 110 200 ÷ 10 = 20 8 × 16 = 128 20 + 10 = 30

___ = 11 ___ = 10 ___ = 16 ___ = 10

33 − 20 = 13 18 − 12 = 6 14 + 6 = 20 15 × 20 = 300

___ = 20 ___ = 12 ___ = 14 ___ = 20

27 − 10 = 17 17 − 8 = 9 8 + 5 = 13 13 × 6 = 78

___ = 10 ___ = 8 ___ = 5 ___ = 6

66 ÷ 11 = 6 7 + 5 = 12 8 + 6 = 14 26 − 19 = 7

___ = 66 ___ = 7 ___ = 6 ___ = 26

22 − 16 = 6 24 − 18 = 6 144 ÷ 8 = 18 9 × 17 = 153

___ = 22 ___ = 18 ___ = 8 ___ = 17

12 × 10 = 120 10 × 16 = 160 252 ÷ 14 = 18 40 − 20 = 20

___ = 10 ___ = 10 ___ = 252 ___ = 20

5 × 15 = 75 28 − 9 = 19 14 + 5 = 19 18 × 9 = 162

___ = 5 ___ = 28 ___ = 5 ___ = 9
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